
25.02.21 Reading Comprehension 

 

Peace at Last 

1. What was Mr Bear and Baby Bear carrying  

as they went upstairs to bed? 

 

 

2. Tick the correct box to make the statement true: 

Mr Bear couldn’t get to sleep because… 

He wasn’t very tired. 

Mrs Bear was snoring so loudly. 

His bed was too uncomfortable.  

 

3. When Mr Bear went into Baby Bear’s room to sleep, what was  

Baby Bear doing? 

 

 

4. What noise stopped Mr Bear from falling asleep in the living room? 

 

 

 

5. What advice would you give Mr Bear to help him get to sleep? 

 

 

 


